DIVISION WITH A REMAINDER (H - SET 3)

TEST 1 1;?;6 Score: yA—

02473 +10 = 16) 7249 + 2 =

2 2078 = 10 = 17 61769 7 =
5 311 =5 = 18) 43272 -5 =
) 3819 +5= 19) 17349 + 3 =
5 38914 +4 = 200 1363 + 2 =

6 68435 +8 = 2 184+ 10 =

N 22414 + 3 = 22 1314 + 10 =
5 11787 +3 = 23) 1568 +5 =

9 216 =3 = 20) 1377 =5 =
1) 8167 + 10 = 2) 12241 +8 =
1 2560 = 10 = 26) 33790 = 8 =
12) 7486 = 10 = 2 19093 + 3 =
13 905 = 5 = 28) 21697 =6 =
1) 808 =~ 5 = 29) 53260 = 10 =
15 38928 = 2 — 30) 4412 +6 =

Mathematics: Division - Level 7 - Horizontal - Set 3
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